
Buku ini Kepunyaan : 
 
 
 
 
 



                                              

  0 × 2 =         4 × 1 =         6 × 2 =     

                                              

  3 × 0 =         1 × 6 =         2 × 8 =     

                                              

  0 × 5 =         8 × 1 =         5 × 2 =     

                                              

  6 × 0 =         1 × 10 =         2 × 0 =     

                                              

  0 × 7 =         3 × 2 =         1 × 5 =     

                                              

  4 × 0 =         2 × 3 =         3 × 1 =     

                                              

  1 × 3 =         4 × 2 =         2 × 4 =     

                                              

  2 × 1 =         2 × 5 =         2 × 3 =     

                                              

                        mASA :                    SKOR :      

Ujian (I) Sifir 0 - 2 



                        mASA :                    SKOR :      

Ujian (I) Sifir 3 - 5 
                                              

  2 × 3 =         5 × 4 =         1 × 5 =     

                                              

  3 × 4 =         4 × 7 =         5 × 3 =     

                                              

  6 × 3 =         8 × 4 =         5 × 5 =     

                                              

  3 × 8 =         4 × 10 =         2 × 5 =     

                                              

  9 × 3 =         3 × 6 =         5 × 1 =     

                                              

  3 × 7 =         4 × 3 =         6 × 5 =     

                                              

  1 × 4 =         3 × 2 =         10 × 5 =     

                                              

  4 × 2 =         5 × 2 =         4 × 4 =     

                                              



                        mASA :                    SKOR :      

 Sifir 1 
                                              

  1 × 1 =         1 × 5 =         1 × 9 =     

                                              

  1 × 1 =         5 × 1 =         9 × 1 =     

                                              

  1 × 2 =         1 × 6 =         1 × 10 =     

                                              

  2 × 1 =         6 × 1 =         10 × 1 =     

                                              

  1 × 3 =         1 × 7 =         1 × 11 =     

                                              

  3 × 1 =         7 × 1 =         11 × 1 =     

                                              

  1 × 4 =         1 × 8 =         1 × 12 =     

                                              

  4 × 1 =         8 × 1 =         12 × 1 =     

                                              



                        mASA :                    SKOR :      

 Sifir 2 
                                              

  1 × 2 =         2 × 2 =         9 × 2 =     

                                              

  2 × 1 =         2 × 2 =         2 × 9 =     

                                              

  3 × 2 =         6 × 2 =         7 × 2 =     

                                              

  2 × 3 =         2 × 6 =         2 × 7 =     

                                              

  5 × 2 =         8 × 2 =         11 × 2 =     

                                              

  2 × 5 =         2 × 8 =         2 × 11 =     

                                              

  4 × 2 =         10 × 2 =         12 × 2 =     

                                              

  2 × 4 =         2 × 10 =         2 × 12 =     

                                              



                        mASA :                    SKOR :      

 Ujian (II) Sifir 0 - 2 
                                              

  0 × 2 =         4 × 1 =         6 × 2 =     

                                              

  3 × 0 =         1 × 6 =         2 × 8 =     

                                              

  0 × 5 =         8 × 1 =         5 × 2 =     

                                              

  6 × 0 =         1 × 10 =         2 × 0 =     

                                              

  0 × 7 =         3 × 2 =         1 × 5 =     

                                              

  4 × 0 =         2 × 3 =         3 × 1 =     

                                              

  1 × 3 =         4 × 2 =         2 × 4 =     

                                              

  2 × 1 =         2 × 5 =         2 × 3 =     

                                              



                        mASA :                    SKOR :      

 Sifir 3 
                                              

  1 × 3 =         2 × 3 =         3 × 3 =     

                                              

  3 × 1 =         3 × 2 =         3 × 3 =     

                                              

  5 × 3 =         4 × 3 =         6 × 3 =     

                                              

  3 × 5 =         3 × 4 =         3 × 6 =     

                                              

  7 × 3 =         8 × 3 =         11 × 3 =     

                                              

  3 × 7 =         3 × 8 =         3 × 11 =     

                                              

  9 × 3 =         10 × 3 =         12 × 3 =     

                                              

  3 × 9 =         3 × 10 =         3 × 12 =     

                                              



                        mASA :                    SKOR :      

 Sifir 4 
                                              

  1 × 4 =         2 × 4 =         4 × 4 =     

                                              

  4 × 1 =         4 × 2 =         4 × 4 =     

                                              

  5 × 4 =         3 × 4 =         6 × 4 =     

                                              

  4 × 5 =         4 × 3 =         4 × 6 =     

                                              

  7 × 4 =         8 × 4 =         11 × 4 =     

                                              

  4 × 7 =         4 × 8 =         4 × 11 =     

                                              

  9 × 4 =         10 × 4 =         12 × 4 =     

                                              

  4 × 9 =         4 × 10 =         4 × 12 =     

                                              



                        mASA :                    SKOR :      

 Sifir 5 
                                              

  1 × 5 =         2 × 5 =         4 × 5 =     

                                              

  5 × 1 =         5 × 2 =         5 × 4 =     

                                              

  4 × 5 =         3 × 5 =         6 × 5 =     

                                              

  5 × 4 =         5 × 3 =         5 × 6 =     

                                              

  7 × 5 =         8 × 5 =         11 × 5 =     

                                              

  5 × 7 =         5 × 8 =         5 × 11 =     

                                              

  9 × 5 =         10 × 5 =         12 × 5 =     

                                              

  5 × 9 =         5 × 10 =         5 × 12 =     

                                              



                        mASA :                    SKOR :      

Ujian (II) Sifir 0 - 5 
                                              

  2 × 0 =         3 × 4 =         1 × 5 =     

                                              

  3 × 2 =         4 × 7 =         0 × 3 =     

                                              

  6 × 1 =         5 × 4 =         1 × 5 =     

                                              

  3 × 3 =         4 × 0 =         2 × 5 =     

                                              

  9 × 4 =         3 × 1 =         3 × 1 =     

                                              

  3 × 5 =         4 × 2 =         4 × 5 =     

                                              

  0 × 4 =         3 × 3 =         5 × 5 =     

                                              

  2 × 2 =         5 × 4 =         4 × 0 =     

                                              



                        mASA :                    SKOR :      

Ujian (I) Sifir 6 - 8 
                                              

  6 × 0 =         0 × 7 =         8 × 0 =     

                                              

  3 × 6 =         7 × 4 =         2 × 8 =     

                                              

  6 × 3 =         5 × 7 =         8 × 5 =     

                                              

  8 × 6 =         7 × 8 =         4 × 8 =     

                                              

  6 × 8 =         3 × 7 =         8 × 1 =     

                                              

  4 × 6 =         7 × 2 =         6 × 8 =     

                                              

  6 × 4 =         9 × 7 =         8 × 8 =     

                                              

  2 × 6 =         7 × 3 =         9 × 8 =     

                                              



                        mASA :                    SKOR :      

Ujian (I) Sifir 9 - 12 
                                              

  9 × 0 =         10 × 4 =         1 × 12 =     

                                              

  3 × 9 =         12 × 7 =         10 × 3 =     

                                              

  9 × 12 =         4 × 12 =         11 × 8 =     

                                              

  5 × 9 =         6 × 9 =         2 × 11 =     

                                              

  9 × 4 =         3 × 11 =         3 × 12 =     

                                              

  2 × 10 =         11 × 4 =         12 × 5 =     

                                              

  9 × 8 =         10 × 3 =         11 × 5 =     

                                              

  9 × 9 =         5 × 11 =         4 × 10 =     

                                              



                        mASA :                    SKOR :      

Sifir 6 
                                              

  1 × 6 =         6 × 6 =         3 × 6 =     

                                              

  6 × 1 =         6 × 6 =         6 × 3 =     

                                              

  0 × 6 =         8 × 6 =         10 × 6 =     

                                              

  6 × 0 =         6 × 8 =         6 × 10 =     

                                              

  2 × 6 =         7 × 6 =         9 × 6 =     

                                              

  6 × 2 =         6 × 7 =         6 × 9 =     

                                              

  4 × 6 =         5 × 6 =         11 × 6 =     

                                              

  6 × 4 =         6 × 5 =         6 × 11 =     

                                              



                        mASA :                    SKOR :      

Sifir 7 
                                              

  1 × 7 =         6 × 7 =         3 × 7 =     

                                              

  7 × 1 =         7 × 6 =         7 × 3 =     

                                              

  0 × 7 =         8 × 7 =         10 × 7 =     

                                              

  7 × 0 =         7 × 8 =         7 × 10 =     

                                              

  2 × 7 =         7 × 7 =         9 × 7 =     

                                              

  7 × 2 =         7 × 7 =         7 × 9 =     

                                              

  4 × 7 =         5 × 7 =         11 × 7 =     

                                              

  7 × 4 =         7 × 5 =         7 × 11 =     

                                              



                        mASA :                    SKOR :      

Sifir 8 
                                              

  1 × 8 =         6 × 8 =         3 × 8 =     

                                              

  8 × 1 =         8 × 6 =         8 × 3 =     

                                              

  0 × 8 =         8 × 8 =         10 × 8 =     

                                              

  8 × 0 =         8 × 8 =         8 × 10 =     

                                              

  2 × 8 =         7 × 8 =         9 × 8 =     

                                              

  8 × 2 =         8 × 7 =         8 × 9 =     

                                              

  4 × 8 =         5 × 8 =         11 × 8 =     

                                              

  8 × 4 =         8 × 5 =         8 × 11 =     

                                              



                        mASA :                    SKOR :      

Sifir 9 
                                              

  1 × 9 =         6 × 9 =         3 × 9 =     

                                              

  9 × 1 =         9 × 6 =         9 × 3 =     

                                              

  0 × 9 =         8 × 9 =         10 × 9 =     

                                              

  9 × 0 =         9 × 8 =         9 × 10 =     

                                              

  2 × 9 =         7 × 9 =         9 × 9 =     

                                              

  9 × 2 =         9 × 7 =         9 × 9 =     

                                              

  4 × 9 =         5 × 9 =         11 × 9 =     

                                              

  9 × 4 =         9 × 5 =         9 × 11 =     

                                              



                        mASA :                    SKOR :      

Sifir 10 
                                              

  1 × 10 =         6 × 10 =         3 × 10 =     

                                              

  10 × 1 =         10 × 6 =         10 × 3 =     

                                              

  0 × 10 =         8 × 10 =         10 × 10 =     

                                              

  10 × 0 =         10 × 8 =         10 × 10 =     

                                              

  2 × 10 =         7 × 10 =         9 × 10 =     

                                              

  10 × 2 =         10 × 7 =         10 × 9 =     

                                              

  4 × 10 =         5 × 10 =         11 × 10 =     

                                              

  10 × 4 =         10 × 5 =         10 × 11 =     

                                              



                        mASA :                    SKOR :      

Sifir 11 
                                              

  1 × 11 =         6 × 11 =         3 × 11 =     

                                              

  11 × 1 =         11 × 6 =         11 × 3 =     

                                              

  0 × 11 =         8 × 11 =         11 × 11 =     

                                              

  11 × 0 =         11 × 8 =         11 × 11 =     

                                              

  2 × 11 =         7 × 11 =         9 × 11 =     

                                              

  11 × 2 =         11 × 7 =         11 × 9 =     

                                              

  4 × 11 =         5 × 11 =         11 × 10 =     

                                              

  11 × 4 =         11 × 5 =         10 × 11 =     

                                              



                        mASA :                    SKOR :      

Sifir 12 
                                              

  1 × 12 =         6 × 12 =         3 × 12 =     

                                              

  12 × 1 =         12 × 6 =         12 × 3 =     

                                              

  0 × 12 =         8 × 12 =         11 × 12 =     

                                              

  12 × 0 =         12 × 8 =         12 × 11 =     

                                              

  2 × 12 =         7 × 12 =         9 × 12 =     

                                              

  12 × 2 =         12 × 7 =         12 × 9 =     

                                              

  4 × 12 =         5 × 12 =         12 × 12 =     

                                              

  12 × 4 =         12 × 5 =         12 × 12 =     

                                              



                        mASA :                    SKOR :      

Ujian (II) Sifir 6 - 8 
                                              

  6 × 0 =         0 × 7 =         8 × 0 =     

                                              

  3 × 6 =         7 × 4 =         2 × 8 =     

                                              

  6 × 3 =         5 × 7 =         8 × 5 =     

                                              

  8 × 6 =         7 × 8 =         4 × 8 =     

                                              

  6 × 8 =         3 × 7 =         8 × 1 =     

                                              

  4 × 6 =         7 × 2 =         6 × 8 =     

                                              

  6 × 4 =         9 × 7 =         8 × 8 =     

                                              

  2 × 6 =         7 × 3 =         9 × 8 =     

                                              



                        mASA :                    SKOR :      

Ujian (II) Sifir 9 - 12 
                                              

  9 × 0 =         10 × 4 =         1 × 12 =     

                                              

  3 × 9 =         12 × 7 =         10 × 3 =     

                                              

  9 × 12 =         4 × 12 =         11 × 8 =     

                                              

  5 × 9 =         6 × 9 =         2 × 11 =     

                                              

  9 × 4 =         3 × 11 =         3 × 12 =     

                                              

  2 × 10 =         11 × 4 =         12 × 5 =     

                                              

  9 × 8 =         10 × 3 =         11 × 5 =     

                                              

  9 × 9 =         5 × 11 =         4 × 10 =     

                                              



                        mASA :                    SKOR :      

Ujian Akhir Sifir 0 - 12 
                                              

  1 × 0 =         11 × 4 =         3 × 0 =     

                                              

  3 × 1 =         1 × 7 =         12 × 6 =     

                                              

  9 × 2 =         2 × 4 =         6 × 2 =     

                                              

  5 × 3 =         3 × 9 =         2 × 3 =     

                                              

  9 × 4 =         4 × 4 =         7 × 5 =     

                                              

  2 × 6 =         6 × 4 =         6 × 5 =     

                                              

  7 × 8 =         8 × 8 =         9 × 8 =     

                                              

  9 × 12 =         5 × 11 =         4 × 10 =     

                                              



Alhamdulillah… 
 Mudahnya Buat Sifir… 

 Maths Aulad Collection 


